Reservedele Doda

Reservedelstegning lejebuk AFI L 35 PD:

g@@

%)

Pos. Varebetegnelse Varenr. Pos. Varebetegnelse Varenr.

- Lejebuk - komplet 23575000 12 Aksel 42 mm. 23575120

1 Seegerring 23575010 13 Not 23575130
2 Simmerring (2) 23575020 14 Kugleleje 6209 193006209
3 O-ring 23575030 15 Daeksel 23575150
4 Daeksel 23575040 16 Skive 10mm. (4) 132601110
5 Rulleleje 193031309 17 Bolt m10x25 (4) 132610025
6 Bolt m10x20 132610020 21 Smearenippel 23575210
7 Skive 10mm. 132601110 22 Skive 23575220
8 Alu skive (2) 23575080 23 Skive 12mm. 132601112
9 Udluftningsskrue 23575090 24 Bolt m12x30 132612030
10 Stettehus 23575100 25 Sikringsbolt m12x30 23575250
n Not 23573150 26 Lasemgtrik m10 132602010

; I A ro meter a/s Fzelledvej 10 » 7200 Grindsted * TIf. 76 72 13 00 * Fax 76 72 13 98
g www.agrometer.dk ¢ agrometer@agrometer.dk





